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3. KEREAERHR

(10) &7 3 %#E BB REAR) KEREHE - —
= FBEE| - = T

" H 5H13E TRI15H SH14E TTA16H 1208 sEeE | maep | o« | TUE[ BN~ BX | Pt
PH 74 7.3 75 7.3 7.6 7.7 6.5~8.5 0% 75 [C 73 ~ 71 ) 75

4+ [ BOD 1.2 1.4 <1.0 <1.0 1.0 <1.0 2 0% 06 ¢ <05 ~ 14 ) 09
SS 5.2 5.0 2.8 2.5 2.8 34 25 0% 36 [C 25 ~ 52 | 36

= | DO 11 9.2 9.9 10 14 12 75 0% 11 (92 ~ 14 ) 11
PN 130 400 2600 1700 170 4 1000 33% 830 [( 4 ~ 2600 )| 830

B | A IYviREYE ( ~ )
Jz/—ILE ( ~ )

1 | ( ~ )

B ( ~ )

1E | BEEH ( ~ )
SRR~ A ( ~ )

g | 784 ( ~ )

( ~ )
HESH L <0.0003 <0.0003 0.003 0% €0.0003 |( <0.0003 ~ <0.0003 )| <0.0003
STV <0.1 <0.1 ENES 0% 0.1 JC <01  ~ <01 )] <04
L D% - ( ~ )

FRIED <0.001 <0.001 0.01 0% <0.001 |( <0001 ~ <0001 )| <0.001
ANEZOL <0.005 <0.005 0.05 0% <002 IC <002 ~ <002 )| <0.02
it 0.001 <0.001 0.01 0% <0.001 |( <0001 ~ 0001 )| 0.001
7KER <0.00005 <0.00005 0.0005 0% <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005

= [ 7ZILF)LKIER <0.00005 <0.00005 ENES 0% <0.0005 |( <0.0005 ~ <0.0005 )] <0.0005
PCB <0.0005 <0.0005 TR 0% €0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
F)700IFLY <0.001 <0.001 0.03 0% <0.0005 |( <0.0005 ~ <0.0005 )] <0.0005
TF5900IFLY <0.001 <0.001 0.01 0% €0.0005 |( <0.0005 ~ <0.0005 )| <0.0005

L RIBZE=EE P <0.002 <0.002 0.02 0% <0.001 |( <0001 ~ <0001 )| <0.001
mig{EimE <0.0002 <0.0002 0.002 0% <0.0002 |( <0.0002 ~ <0.0002 )| <0.0002
1, 2—°H001%Y <0.0004 <0.0004 0.004 0% <0.0004 |( <0.0004 ~ <0.0004 )| <0.0004
1, 1=y)EnIfby <0.01 <0.01 0.1 0% €0.001 JC <0.001 ~ <0.001 )] <o.001

& | YA—1, 2—VhAnIFLY <0.004 <0.004 0.04 0% <0.001 |( <0001 ~ <0001 )| <0.001
1,1, 1—M)9001%Y <0.1 <0.1 1 0% €0.001 JC <0.001 ~ <0.001 )] <o.001
1, 1, 2—M)y00I%Y <0.0006 <0.0006 0.006 0% <0.0006 |( <0.0006 ~ <0.0006 )] <0.0006
1, 3—¥9ER7' 0~y <0.0002 <0.0002 0.002 0% <0.0002 |( <0.0002 ~ <0.0002 )| <0.0002
FI5L <0.0006 <0.0006 0.006 0% <0.0006 |( <0.0006 ~ <0.0006 )] <0.0006
IIDY <0.0003 <0.0003 0.003 0% <0.0003 |( <0.0003 ~ <0.0003 )] <0.0003
FANU AT <0.002 <0.002 0.02 0% <0.001 J( <0.001 ~ <0.001 )| <0.001
ot <0.001 <0.001 0.01 0% €0.001 JC <0.001 ~ <0.001 )] <o.001
LY <0.001 <0.001 0.01 0% <0.001 |( <0001 ~ <0001 )| <0.001
HEEUOEHRBEESR 1.0 0.7 10 0% 08 (. 07 ~ 10 )] 085
PES <0.08 <0.08 0.8 0% <008 IC <008 ~ <008 )| <0.08
1F5% <0.1 <0.1 1 0% <0.01 JC <001 ~ <001 )| <0.01
1,4-Y 134y <0.005 <0.005 0.05 0% <0.005 |C <0.005 <0005 )] <0.005
X3 1.1 0.77 0.66 0.77 1.0 0.92 09 |C 066 ~ 11 ) 09
EIP 0.035 0.038 0.021 0.03 0.071 0.053 004 | 0021 ~ 0071 )| o004
B4 R mEHES <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <005 J( <005 ~ <005 )| <005




